) WL SRR RS

2018 FIEHT “RIENAR” SRERED (AR

FRK w4 ZRIES
B | — = = L Gl N Har
ISV

—, EEE I (20 )

L. 2018 “RHEA/NA R LB R RT3l 32
A FOIREE N AR B EPRHE T
B. BEA/NAR AT LS
C. i 21 LR D AR

9. [ESEBIMAIT 2016 4E 3 AR T (4 RA S 2 RATA T HIN TS 72 (2016— )y, w HIH

“ = STE R E 2 RO R S B R T AR

9. MERFEENEMENEINERZ —, @HENENHEATY: FE=AEXHERXHEFHR. H
R NIRRT, WCHOMLE B I, BT ROEZA SR B ARSI, A ReEmfe s “ sehr
Yoozt ”e bohn, FENAERATREE AN —EWE IER 10 J370, — S IR R0y 2% (AT
B, MBFHEEN 20%. Q1R HE RS ROy 4%, A7 — 45 [0 SEAS AR R SERBR i 2
N
A. 1600 JG, —2% B. 2000 JG, 2% C. 1800 Jt, 0%

10. /NEAR G Ab 3 LRl A S INE E, ] 4 N iR ATAEM _EWOT 1R T B RIS b . Rss
AR 4 TR A RBE E r a ATT, A IR 2 ANBRFTIT E CHUT IS5l /NBRARATT 4 N30 14

PP F 5 o

A4 B.5 C.6

A. 2035 B. 2050 C. 2020 = EEE T (10 4))
3. kel _ . 1. Mary has more pencils than Lily. Tom does not have fewer pencils than Mary. Who has the fewest
A KEIFERA . — B. — =R R C. K AEHr it Fof pencils?
4 WORNERTGA M MERE, SRR, PUAS B RII0ER, AR T LS R A Lily B. Tom — C. Mary D. Nobody
W . 2. Which of the following supports the sentence “Animals can reach amazing speeds” ?
A. &R B. T C. 3% A. Dragonflies catch and eat other flying insects.
5. KIBNBEIAT R, EBIRADIS 2 ZHRGL. EAMNET BREAROK, I LRk, REET, ik B. Ostriches cannot fly.
B GHORI B, SRIEHEAE TR TSSO, A KRBT - St 20 A ¢ Peregrine Talcons can dive faster than any other bird
T, 2 MEHA 2T 52 D. Gazelles live in wide—open spaces.
A ELH KT T H R B. T HEIIK®E Tk C. MTHMs/KSHIKDE T 3. Which continent is highlighted (AxH!)?
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8. MARIEN K EyhEH BRI G e, S KM A e ed. XEERR N A. Asia B. South America C. Europe D. Antarctica
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4. What will happen to the butter if it is put in the fridge?
A. It’ 11 explode B. It’ 11 get softer C. It” 11 melt D. It’ 11 get harder
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Average precipitation (F#JF&7K) in Nairobi, Kenya

Which of the following is true about the average monthly precipitation in Nairobi?

A. Nairobi gets the same amount of precipitation each month.
B. There is more precipitation in May than in November.
C. There is less precipitation in November than in September. N . | o . \ S y
3. FE 8 AMMERER/NEIM BAH T HEEHZEITK, T MEER R BREK. IRBET R 3 00, sk i Bk
D. Nairobi has the least precipitation in summer. FIMToRk? ERIRE A V. (RE 5 7))
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9. BEEEEmE (20 40D
Part 1
Everything is very cheap in a store today. The store opens at eight o’ clock. It is seven
in the morning, and many people are standing in front of the door. It is a long queue. At seven
fifty—-five, a small man tries to push his way to the front of the queue. But he can’ t. He tries
many times but he still can’ t go to the front. And everybody is angry with him. A strong man
says, “If you try again, I will hit you.”

The small man says, “I just want to open the door for all of you.”

1. The store opens at

A. 09:00 B. 08:00 C. 07:55 D. 08:55

2. The store is

A. always cheap B. always popular C. cheap today D. not popular

3. tries to go to the front of the queue.
A. A small man B. A strong man C. everybody D. nobody
4. Everyone is angry with
A. the strong man B. the small man C. the store D. each other
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5. The small man wants to

A. buy cheap things B. open the door of the store
C. stay at the back of the queue D. hit the strong man
Part 2

Everything on earth is made of matter. Matter is anything that takes up space. All matter
has mass. Mass is the amount of matter in an object. Things that have a lot of mass are heavy.
The boat is very heavy. It has a lot of mass. Things that do not have a lot of matter are light.
The ball is very light. It has a little mass. Matter can be in different states. The three states
of matter are solids, liquids and gases. Water and soda are liquids. Air and clouds are made

of gases. The bucket, sand and rocks are solid.
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L. Matter does NOT have M T e N R, il b S R LK . i URAE RIS B = e, BB = 4l

A. B. stat C. light D. e, s — N S e e s e s
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2. Something is heavy when it has a lot of . &0
A. space B. states C. matter D. mass

3. Matter is in

A. gases B. four states C. different states D. the same state

4. Heavy objects usually have 120

A. a lot of mass B. a little mass C. no mass D. no matter

5. Coca Cola is in the state of

A. clouds B. solid C. gas D. liquid
f. BREXRFF (104

TERIEE N, TR RIEIRINER DT, Nz A E B S S R NE S - BURINENE
ZOR: OHEIEN, fescBEE E DR, QAL 300 7 @R DL sise kX,

PUsEgR 5 4 U 3L 4 T



